

ESPRESSIONI

$$(8 \times 5) : (3 + 7) + 9 =$$
$$: \quad + 9 =$$

$$(20 - 3 \times 2) \times (100 : 50) =$$
$$\times \quad =$$

$$(9 \times 4) : (33 : 11) =$$
$$: \quad =$$

$$(6 \times 7 - 4) - (8 + 4 \times 3) =$$
$$- \quad =$$

$$50 - (12 \times 2 - 4) : (35 - 6 \times 5) =$$
$$50 - \quad : \quad =$$

$$10 + (7 \times 4 - 3 \times 4) - 2 \times (72 : 9 - 6) =$$
$$10 + \quad - 2 \times \quad =$$
$$10 + \quad - \quad =$$

UGUAGLIANZE

Completa le uguaglianze

$$34 - 9 = \quad +$$

$$\quad \times \quad = 8 + 13$$

$$49 + 6 = \quad -$$

$$\quad : \quad = 17 - 5$$

$$8 \times 8 = \quad \times$$

$$99 : 9 = \quad :$$

Vero o falso?

	VERO	FALSO
$6 \times 7 - 2 = 12 + 6 \times 5$		
$3 \times 4 - 5 = 24 : 2 - 3$		
$30 + 12 : 3 = 25 + 3 \times 3$		
$5 \times 4 : 2 = 2 \times 4 + 2$		

